Sma Lurgd Caiay  QatiLbug 2020

E- qu\r-HJvﬂl S’u‘

Guosiflamey @yeds_mb st

@hom s — nﬁlamL.e'ﬁ@ml}q&,ﬁr (Lo um_ S8 L 1b)

e

(8]

d"“'-.

’__..-

G]lﬂrl"ﬂ:f,g, mﬂj@uﬂ’ﬂ GHET - 70
@A - 1. Seuid DD G0 Ay e srgs UL Gt effen_ s o (G0 WHIC
QeinuiuL. Geusoor(Hi.
2. QM O&sIUC QETsT Bieh e aflenLaafléd SO 6y sy lm_ 1606
GaimGla(h\ea) @i GILsir elsmLuflensoriin Gari e ﬂ@ﬂlﬁl@ﬁﬁﬂm Lot (HGLD
LU auLpris Geugrar (Hi.

15 X1=15

UGS - |
gifluns aflsnLsnwsd CarbesHEE @GP HLsr aflsoLullsmsmub
Gergg) 615
1. | @ | [ylsinsr.;:u sl oy Hlens B\mdeEih
‘ 2. &) 1.25KW
3 ) A ]
-4 ) ;_k.poc X ;
5 | R 1
6 | @ |©o N
7| W | oybwe oi5S
8. m | 9.27X10%AM? o
9. @) | i Qeusior LstrGLHMLD ]
1; No
B el A -
on [_ﬁ) | 0.1H e N
- - ; ——
12 | s |-€.E -
3. | &y |3750A° S
M [ [umond
5 @ | I



Lehd - 1!

GHEID Db OT6TTE 5
aflsoTiT 676807 2468, m‘i]muuﬂﬂ ﬁﬂmuus’fﬂ:

U1 e | munorm.

gty GlgTmeve, :

BX2 =12

&oUMi g gy gy s0T6MEL. o _
\ ) UGrm _iretr @etor® o @RITiSGEST IODID G &p
&R & 160 aj,mf"?_‘” = 1 &G sTT

16 | Guopumiier B umg g . :
@nd Qgrensug, . ODMID eumstr ysmey syt Usiter| @emi G 266 | 1X2=2
) Qe ® oo gy |
A = 12400 = |
. - 0.624° = 1 wdblsdr
ii) Qi (0 i Clsetar |
C
7o 2 = 3X10%0.62x10-10 2 % 1=
18
e = 1 wiGustn ‘

: \ (@@ GO aflsvsmaGuisfls 1/2 LI GILITOT (& 6mmé&6LD) B
@Mﬂl |
 gnerOUC L AebTGeomm L gl Hend ime o (HEuTa |
SMEFTLOTET DS, STEbITSs Eih = 2 Qs

18 -
? do —dg 2 X1
-3 (onsse—o= = 1 wHOGusiT ‘
(GLostTLn(®) WL Gib sTEpESlmhaETed 1w HIGLSTIT subisaiD) | J
d d |
| E- i= < (5x2+5x) = 10x+5 = 1 udlGusTr |
L 12X1=2
=108 = 1045 = 15—‘1' =1 Lﬂﬂu@umr |
@ﬂ&@mrml__rr_l.ﬂiﬂ_ﬁﬂm —_‘ o
i) @smm g,l_g,@uﬂsumsu QaiwiulL gefl 2_smriablss,
20 | Qum(meir wwu@gguu@.ﬁ[ﬂﬁ] f = 1 wdiGlussor 2X1=2
i) gofl gpgy sHiais b EUGUTSI opupflerQafiasGaiu |
ST W@ﬂw = lufQuar |
6010
PBsmenL Q{EGE"@ [esd\p Ganem G0 Glengin
= 1 whlGlustor
| SPESE | 2x1=2

\ A5 & flice Bl QEQID Bt 6r
(PSHETAOLD oy + ) QUGS

oo 0 SEAESIGHS = 1 hGlLsmor |
‘ r - — i l5oTimel S saT6MEL

| i) Bus e T i @RI EHGEST WD 6 Giosh
22 Li-gmeir Gy &40 © = 1 indlblusn 2 X1 =2



. X — ordhlieneTear LILIGOIEh6T : —~
7o : l]. yjsomyeileT L-I;L.LI]] s1Gloudhl” ITTedt & (B ayemiolisnu S
2) Lilg & r3;;|ﬁ'r:ln‘lLI}I,J!ﬂ‘.ill_ll:“}.._L,IITITIIJ 5
| 3) erayudnt pmlemeneh &hauoTL L 2 X1=¢ |
a) Sy endds MBS 2 (HEUTEES Sems, et i |

I e S N = ' -[EIF@WJEEUH'GMH ]
| 24 s (@) L |

m

= 570X1.6X10'% 9 1X10' i

1 W sGlLissar
& a =100.29X10'2 M/S? - 2K =%
; 2 1R
y (2@ GBI aflshsmev@iuiasflsh V2 LoghCi@Qusor @mmgmmﬁgumum
WO&a iy anuomest WL GBI BHSTE () whGLsss
aymsewr) S L -
UGS - i
CHsmID S0 afleoTT & S(EThéh & aflamL_uafl; 6X3 =18

sl stsmer 336 aflmLweafliug) s LmumEL.

"_25_ | A saflogdln AogamLbs 160153 & 6M6T eTsientiéene,

=156k, (Djsosug) 93.75% =1 udiGussT
' B gafluédlh SimgamLhs S|mpibambaatsr seasmflsbms =3/4 ukiE I,
| (opng) 75.00% tugiQuar | L
‘ A wipgyh B syfusupiien Sengeasnlhs S|gmide s s |
| sTenmennflgens alldlsin |
Na/Np=5/4 (gjsoeng) Na:Na=5:4 (Sjsdes) |
Na:Ng=1.25% =110 ClLiggar )

26 Aidsrsier flsnGamiL eild) . ,
| 5T G SN skdédsr LilsiTGammLLriugeflsr @plile |

e L (H508mme sfiumsL. =1% ufCusr |
L |

|1+I2+‘|3'!q-f5=0 . )

|1+I2 =|3+|4+|5=0 = ‘! Lﬂﬁh‘-lgumf

(@flmer sustrun®  Byosug) LD L G BHST 1 HOGILIsTT

1 raler. D) 3
dlida ol i (flstien s afd : I

6T 63(16 eLigius &DHIEID 2 6TTeT \siTGearmLLLD YLD lﬂg g‘:m;u.urm
Sy Elusuidlsi Gl e pusvera st @O o[BS LIST 8,

: = . . . - i . m&&ﬂ'ﬂﬁh @Mﬁ] &'I.f—@&
S Bstraifisy o_smam hlsdreafiudse o 1 Y% 0BG |

. ﬂflghnﬁmmfh@a FLOLIMTELD.
(o) L - 1uiGusin

(efliunen swsmun(y)  Sjeag) ULt O BB = Tiogiolue

[l :'|". Ihf n'l =



27

1 —

[= mdic

| 2:1*."'-1-? - =2 x = I -
=1 whHOGlus
| | £=2500 KHz
- Q — emysfl = ER[- - Vo &Gt
! = 1 WLt
Q=125
T _ Y QU
- =9 . -
p=¢ €dA (e -
e ¢ =¢ EdAcosb =1 &Gt |
- Q
i =1 W& IGlussar
Q. Q
e BU6D = X
=g R, 9 el _1 whQusin
(Soeg)
o e G -2 wgiGusin
MeSL LlLMLen 57GEemId 6, Lesry 1 whheusr
. umm E:'-n!jgll:i QU"@GTHF&T ﬂ(:gj@;ﬁ] (M UEU"IITLI = Lﬂé]UG]LJﬂ'UT
| SLIUTGTT SMESLGLT @ HGHEIb GG uam =1 WSOt
130 | gofl Qs seaun Germ : -
TCHEILD eLpsdT(yl LiwstTLT (HG6T 3X1=3
(opomg)
TGS EID (LPSITD) TGS 3 X143
(D)
B6VS Sip i elstr eLpeuLd SHeHeEMED LTLILLD (P&0D - 2 WHOQustsr
seflurerg) enod&sErm e nmith CmpGum Sjmevssmer
ol e gifls oi&)T0nsTITEnETT & Qaraw@eTerg). =1 wHGlusvr
ol @emigs gesusd MU .
1) MY u_riugepert 5IL G SOl LESlaUTS! (Sje0g)
gl @m!—_ﬂﬂiﬁh’ Lfl&aLo Gmsﬁlﬁqmﬁl- gmil fuLmigsmer ail .
SDMEUTeT sTEML Qg meuoTL 6TEL. . . 8 1 S UsTOT
2) 5 gids; oL JBNSTET Qg metar (GIETETSTEL B8 6160 .
&UHs Qe i oS- _ L = 1 LI\ Ustor
(Spveug)
l___ ﬂ@g:@jﬁ] . . &EiT ) - 3xX1=
| 9E5 @1 epeingy piramo s



A

j,»"' 32 | A mﬁ]gulh-B

51_ Do,[gDnI_Ln;Bﬁ;'h Jﬁ,ﬂ]l:.lL';]lUGU_LIElﬂT HGS@JL:D El_p_&r“@ LD_I.__G;\LLE

sir Geusui( : ]
| .
A+ B (opng) AB (geg) AB

| Cuflstr @suaflui@ :C

st apilsir @eusfuS® : y=ABC

! 33 J@ 9|6 ﬁﬁi@l}‘ﬂﬂfﬂlﬂm ﬂ’lﬂlljll'l':'li_l' msml}mmm

U sthGmarfloy meoLGumugMHa s @ysusr(H
L_ MBI SEWEET S6TT

UG - IV
omargg eflenéaEns @ el wef) -

134 | gymuoliy Lt mpd eflaTéstd
(=) |

I'..',.
Vp N Np T - K

‘ ! HEIEmstT eusmmusmm o)
| Ly G]mﬁ-[fm . . .
| B Gimeir / 2_siraf) Hmsor X 100%

:1m@:1@l.lﬂ‘ﬂ|'

= 1 GG

’ 3
3X1=3 ‘
i
= V2 wdlGussor 3
< Y wgliGustr
- 2ugiGuen |
= 1 WA Guster
3
= 2 S Gluetor
5X5=25
= 2 N Qustor |
|
S




7]
()

(pUULL&th THUR.: y | |
LMD N6 o - Ll 7 ; ' .
| Lommi 61T ek 1y @mmnrrmfnm Genmremrid LLLD 5 pgiGuUsTT |

I -

d=(i1-1)+(ip-r,) - Y5 wgEusTT
(r+r2) = A - Y @St
O d=(ir*ia) - A - % wdliGussT
1=12=i,  ry=rp=r = Y wdlGue |
D
n= ﬂ:-;—%? = 1 wéHlIGlusT

afl_sGLTstT SLaTESDHY LD = 1 wHUGLsTIT

A

I1'|G'l3 = U _ . .
l#1G-14 = 0 = 1 QL sty

|,P-IG-2R = 0 .
| I:P-I:Q-Ias-lzﬂ =0 = 1 LN IGusgor
lg=0 sreoflen 1= 1. =1, = 1 w1 ingay

= 1 wdhiGlusgyr

f
|
f
|
ole
|
len =




(<)

g et e Glemmedor, SIS )soriy
‘ SMHGUILIED LLLD LHMID Slsméhamp

$ B. dl = pol ey’

35 _&_!,L,Elj]u_l_ﬁ &E}ml_n@ @sm_muémm é’;lﬁi__]mél e

o S Togea
& Gy A

| " ul = 1 0 Qg
7 |
C" “Nipmr—~yg
il i 0 o
| N e )
i S S
= [|§

B"™dl = pl o
84 ‘ =1 uhGue
B.2mr = p,l
| =it
' 2mr =1 LO&1G) g
B =1";| i

= 1 wdiGlusvr

! I
36 S\EiGHWmeus sl @IurEin sTGed L s
L T Lmmid efleTéaLn = 1 G

TS

———

e

5

S e b -pﬂ Wb o wi-a e

F g = —— (Fze)ce) = 1 wdHOCILsmE
Ame, g
= . -MV - ¢ i
F smmm@;gnm@ =—np = 1 igGusmT
|F Bagymi | = | F soWCETEE |
- Ane, (MV rn; =1 mﬁh:jgl]ﬂlﬂ‘
| ZMet
rn = —\__'".I ha {!i
M 4
5 = 1 wehiiblueon
| fho=a, — ==




| DOTOTS sy 3 wgllGURT |
ﬂﬁg{“‘.—_——.—-——— ——— ox 1, = 3uwdibluar
(2 v=E LSt a5 67T TCHgID 0! EX % b

Ve axio* 1 | i
| 2x10-+ = 1.5X1(8 mis = 1 wHOGUSTT

] w " |
37 | Qevste 2_mana e TR I
O @ nuey SLSTLNG) oHyb Gevsirsy swsTUTER
i = 1 GlLisoor

" i W s TR i = 'y s A

= ";:-—} = 1 wliGlusr |

1
- u‘T”FI“': = 1 UGl

|

= - « 1
| M= ny=1 eteafled - = (n - 1)(%_— = =1 vdiQueir |
| |

N
- T T udiGusir |

oy




I_ﬁ‘gu@ﬁﬁihnm&m&u}smrm SO g

7 g yreeT 6 : ]
iy g 2 61670, GeusfIG) Eperons: SUDA axper = 1w iGuss | I|
|
|
[
|
5
| aflen &aid
| Quss i Qawhun® o sefGememasr Gy sy B
i SysmileTGLTES) =1% w&HoGluser |
| |
a_eraf(p) smasnaullser st smy emeoullsir Gumg =1% wdHiGlustor |
. |
38 | sstrsuimerflsin o & : - N
(@) 1) sl aGuslrmer 2 10pa) UL .
' iy sSeméa - 2 i Qustor |
| h]r: ¢'u + % MVz I |
[ h}rg= q)ﬂ ! i o | |
| h]{: h:"u-+ 1/& Mvz . =1 Lﬂﬂ-lm
5]
K@upoh =% Mv? QugmLold o
| KQumwid = hy - d, = 1 oiGlusTIT
2) (9) GeuafIGumd gyHmed s M@t Curs) "
P Bt s - Kb
(&) uGsdifsr Qarhley gl Eh Gurg) i~
| Bimiga (Bsoreom e wrmng = % wBGusm
e ST e
(opoes) |




(W)

— lﬁ@&ﬂ anﬂﬁT @l‘imﬂm rll'lapﬁn‘n! g1 1 1 Sls 1 m#m_l“'“
| iflegramiy GlemiGea \ohmih eflen dhenth .

i = 1 HUCustor
2 mmeSler. SjeTey (Gsmmud

10



Note:

b

DEPARTMENT OF GOVERNMENT EXAMINATIONS

HIGHER SECONDARY SECONDARY YEAR EXAMINATIONS SEPTEMBER - 2020

PHYSICS ANSWER KEY (NEW SYLLABUS)

Answer written with Blue Ink only to be evaluated.

Choose the most suitable answer in part A from the given alternatives and write the

option code and the corresponding answer.

For answers in Part-l, Part-11l and Part IV like reasoning, explanation, narration,
description and listing of points, students may write in their own words but without

changing the concepts and without skipping any point

In numerical problems, if formula is not written, marks should be given for the

remaining correct steps.

In graphical representation, physical variables for X-axis and Y-axis should be marked.

PART- (I)

Each Correct answer carries one mark

15 X1=15

1 c) [ More than before
2 b) | 1.25KW _
i__ 3. a) |A B
4 [ d) [ Aexa e
| & | & IR

6 o 0
| 7. d) TEnergy density i _
C 8 | d) |9.27x10Am? )
'_ 9. | ¢) |Frequency modulation -

No

I B Y B _
o d) 0.1H

2. | b) |;€oE?

. | b) | 3750A°
14. b)  Phosphorous
5. | ¢) 90°



PART II

Answer any six questions. 6X2 =12
Q.No 24 is compulsory

2 Marks Answer:

& | The shortest distance between the transmission and the pointof 15 2' =2 |

| reception . -
T i) Cut off wavelengh ‘
Ao= 12:““ A° = 0.62A° = 1 Mark
| ii) Cut off Frequency ‘
7| yo= 5= = 3X10%0.62X10™° 2X1=2
= 4.84 X10'°HZ = 1 Mark ‘
| _ (If unit not mentioned reduce 1/2 Mark) ' |
Lenz's Law:
The direction of induced current always oppose the cause
responsible for its production
; = 1Mark
18 (on 2% 1=2
N S <8 = 1 Mark
e— e (or)ec A = ar
| (if write only equation allot 1 mark) _ o
. dv d
- — 2 = =
| E-= o (5x°+5x) = 10x+5 1 Mark
19 | v 2X1=2
X=1C.m=10x+5=15— = 1 Mark
cm
| Photo voltaic celk:
i) Any sensitive element made of semi conductors is used to
20 | generate voltage = 1 Mark 2X1=2
ii)it is proportional to the intensity of light or other radiations
= 1 Mark

1) Paraxial rays;

The rays travelling very close to the principal axis and makes small

angle with it _ o = 1 Mark 2X1=2
2) The rays travelling far away from the principal axis and fall on the

mirror far away from the pole

21

= 1 Mark | ]



==

‘ Neutron is made up of one up quark and two down quarks
22 = 1 Mark

 Proton is made up of two up quarks and one down quark 2h) =2
I - - ~ _ = 1 Mark
23 Uses of X —rays:
' 1) Studying structures of inner atomic electron shells
2) detecting fractures diseased organs 2% 1=2
3) Observing the progress of healing bones )
4) Detect faults, cracks and holes (Any 2 Points)
, - - - = 2 Marks -
24 Acceleration (a) = %
= -19 -3 —_
= 570X1.6X10"%/9.1X10 = 1 Mark 2% 1=2
a =100.29X10'? m/s? = 1 Mark
(For equivalent value gf_answe_r_r_ne@_c.an be g_iEen)
PART Il
Answer any six questions : Q.No 33 is compulsory 6X3 =18
e Decayed part of A atom = 15/16 (or) 93.75% -1 Mark
Decayed part of B atom = 3/4 (or) 75.00% =1Mark
Ratio between A and B atoms (or) 3
| Na/Ng=5/4 (or) Na:Ng=5:4 (or)
| Na:Ng=1.25% (or) equivalent answer 1.25% =1Mark
26 The algebraic sum of the currents at any junction of a circuit is ]
Zero =1% Marks
(on
Equation only (or) diagram = 1 Mark

In a closed circuit, the algebraic sum of the products of the current
and resistance of each part of the circuit is equal to the total EMF
included in the circuit. =1% Marks

(on
Equation only (or) diagram =1 Mark L




1
k o f= 2nVLe =1 Mark
f=2500 KH; = % Marks
I
Q - Factor = "’TL =1 Mark
Q=125 ' = %2 Mark |
28 ¢=¢ €dA (or) ¢ = § EdAcosB =1 Mark |
-_Q
E'meorz =1 Mark
¢=2 (or) p= 0 6 =1 Mark
(or)
i ' Gauss's law (or) coulomb's law definition only =2 Marks
129 Dia any one property -1 Mark
s Para any one property =1 Mark |
| Ferro any one property =1 Mark |
|' 30 Larger bandwidth, so information |
. . ' Carrying capacity is higher =1 Mark
i ‘ Cheaper than copper cables =1 Mark

Fibers are not electrically conductive, so isolation

is required from electrical and electromagnetic

| interference =1 Mark
(or)

Three uses of fiber optic communication
(or)
' Three merits of fiber optic communication
T Special features of photon Any three points
3IX1=3



32 Output of A & B
| A+ B (on AB (o) AB = Y2 Mark
| Outputof C: C = ¥2 Mark
‘ Output of circuit : y=ABC = 2 Marks
33 4’ Correctdefinon @~ = 1Mark
| Any two condition for the total internal reflection = 2 Marks
Part — IV
Answer all questions:
34 Construction diagram and explanaton =2 Mark
@
Working = 1 Mark
V8 b K = 1 Mark
Vp T Np s -
efficiency definition (or)
- n = Output power / input power X 100% =1 Mark




34 | Prism — angle of minimum deviation diagram =2 Mark |
(b) and explanation ‘

d=(i1-r1)+(i2-r2) = ¥2 Mark

(rn+r2) =A = Y2 Mark

d=(is+i2) -A = Y Mark

‘ i1=i2=1, M=re=r = Y% Mark
| n= %? =1 Mark

‘ 35 (a) ‘ Wheatstone's bridbe diagram ' =1 Mark

| ‘ l1-lg-13 = 0

lz#+lg-ls = 0 =1 Mark
11P+lcG-1;R =0
‘ 1P+12Q-14S-I;R =0 =1 Mark

' ‘ lc=0, lhi= 13, 12= 4 = 1 Mark

=1 Mark

cle
=



' 35(b)  Definition of Ampere's circuital law ' =1 Mark
. (or)
$B.dl = pol
Diagram of long straight current carrying
conductor producing magnetic field and explanation =1 Mark

r x
dB
o .
2nr
| Bfdl= ol = 1 Mark
B.2nr = ,\‘J.nl
‘ = kol = 1 Mark
nr
B =:_H_T""' f = 1 Mark
36(a) | Electron revolving the nucleus diagram and
explanation =1 Mark
‘ Protoa is assumied to be stationary
]
‘ F Coulomb = — ‘*“ﬂ‘:" F = 1 Mark
- ; -m¥
F Centripetal = —= 7 = 1 Mark

n

| |F Coulomb |= F Centripetal |

"“En [mv r"12

EGEE .5 = 1 Mark
n = Zme?
€, h? n*
fo = {rrml‘ ) 2

n? s
M =2, — _—1Mar§



{ﬁbr Any six properties of E M. Waves

|

[ -
' 37(a) B Diagram of lens makers formula and lens equation = 1 Mark

| S

|U=

©m

ix10*
2x10-4

—

=1.5X10% m/s

ng n =My
vl R

n n; (’lz-ﬂ:]
v wl |

1_1__{'1:“-:;”;_1_ 51_2)

v ou

u=a, v = f ereufled

1 z—ﬂ.1’ 1__ 1
F_ n, {Ri E’

|
1
v

. 1 1
nz=n ny=1 nmﬂm-}={u— Wil—~2)

© 6X1/2= 3 Marks

=1 Mark

=1 Mark

=1 Mark

=1 Mark

=1 Ma.rk

1
|




'37(b) | Circuit diagrar
Ircuit dia o — -
dlanrsin: gram of transistor as an amplifier, input, output signal ]
= 1 Mark '
| 5
| |
Explanation =1 Mark
Working
- First positive half of input signal =1% Mark
| negative half of input signal B = 1% Mark B
'38(a) i) Electron emission diagram with explanation = 2 Marks
|
hy= o + %2 Mv? |
5 hyo= o
hy= hy,=% Mv? = 1 Mark
|
; K max =% Mv? max 2
| K max = hy - ¢, = 1 Mark
ii) A) Work function increases stopping potential increases
= % Mark
‘ B)Intensity of incident radiation increases stopping potential
i does not change = % Mark




—

Circuit diagram of capacitor di |
: pacitor discon
(with dielectric) nected from battery

v V.

ErE,A _ EA

C= ===
d d

Energy value decreases

=1 Mark

=1 Mark

= 1 Mark

=1 Mark

=1 Mark

10



